Тестовые задания к тексту «Types of Unemployment»

Ex. 1. Read the text.

There are three different types of unemployment: frictional, structural, and cyclical. 

For some unemployed workers, the absence of a job is only temporary. At any given time (в определенный момент), some people with marketable (пользующийся спросом) skills are fired, and others voluntarily quit jobs to accept or look for new ones. And there are always young people who leave school and search for their first job. Other workers are seasonally unemployed (for example, ski resort workers). This type of unemployment is called frictional unemployment, and is a normal condition in an economic system. Improved methods of distributing job information through job listings (просмотр вакансий) on the Internet can help unemployed workers find jobs more quickly and reduce frictional unemployment.

Unlike (в отличие от) frictional unemployment, structural unemployment is not a short-term situation. Instead, it is long-term, or possibly permanent unemployment resulting from the non-existence (отсутствие) of jobs for unemployed workers. Structural unemployment is unemployment caused by a mismatch (несоответствие) of the skills of workers out of work and the skills required for existing job opportunities. Structurally unemployed workers have no marketable skills, and therefore require (требовать, нуждаться) additional education or retraining. 

Cyclical unemployment is unemployment caused (вызванный) by the lack of jobs during a recession (экономический кризис, экономический спад). When real GDP (реальный ВВП) falls, companies close, jobs disappear, and workers scramble for (бороться за получение) fewer available jobs. Similar to the game of musical chairs, there are not enough chairs (jobs) for the number of players (workers) in the game.
Ex. 2. Match the columns so as to make a word-combination. 
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Ex. 3. Give the antonyms from the text.

Permanent, long-term, structural, out of work, zero unemployment.

Ex. 4. Finish the sentences. 
1. There are 3 three different types of unemployment: …

2. Frictional unemployment means that …

3. To reduce frictional unemployment is possible thanks to …

4. Structural unemployment is …

5. There are three main causes of structural unemployment: …

6. Cyclical unemployment is …

7. Full unemployment … .
Ex. 5. Answer the following questions.

1. What is unemployment?

2. What are the three major types of unemployment? 

3. Which of this type is least dramatic for the economy?

4. What is frictional unemployment? Is it short-termed or long-termed?

5. What is structural unemployment? Is it seasonal or more or less permanent?

6. What is needed to stop being structurally unemployed worker?

7. What is cyclical unemployment? At what periods of type does it happen?

Ex. 6. Use the necessary preposition (if necessary).

1. … any given time, some people with marketable skills are fired, and others voluntarily quit jobs to accept or look … new ones. 
2. And there are always young people who leave school and search … their first job. 
3. Other workers are seasonally unemployed (… example, ski resort workers).

4. Unlike … frictional unemployment, structural unemployment is not a short-term situation. 
5. Structural unemployment is unemployment caused … a mismatch (несоответствие) of the skills of workers out of work and the skills required … existing job opportunities. 
6. Structural unemployment is similar … the game of musical chairs, there are not enough chairs (jobs) for the number of players (workers) in the game.
